MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 5)

FOUR DECIMAL PLACES jj o
o11) 1 x 0.9 = 286) 2 x 0.05 =
) (0.3 x 7 = 251 (0.05 x 0.008 =
o 1 x (—=0.8) = 255 7 x 0.5 =
71 2 % 0.009 = 280) —& x 0.0002 =
) 2 % (—0.07) = w0 —0.9 % 1=
700 0.06 X (—0.0004) = o0 —0.001 x (=6) =
211 —0.0007 x 0.3 = 22) 3 X (=3) =
o) —0.6 X (—=0.1) = 23 —(0.0002 x (—0.1) =

279) (.01 x 0.6 =

50 —0.0008 x (—0.003) =
1) 1 x (=0.01) =

2%2) —0.04 x 1 =

23 —(0.1 x 0.9 =

251 9 x (—0.08) =

299 (0.9 x 0.008 =

Mathematics: Multiplication - Level 7 - Horizontal - Set 5
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298)

299)

300)

0.8 x 0.0002 =
0 x (—0.0009) =
0.006 x (—0.007) =
0.03 x 4 =

—0.007 % (—0.6) =
—0.002 x 4 =

0x0.1=
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